Paper: B.E_B.Tech

Set Name: |Item23

Exam Date: | 26 July 2022

Exam Shift: | 1

Langauge: | Tamil

Topic: Mathematics-Section A

Item No: 1

Question

D: 100101

Question

Type: MCQ

‘R . B _ . . .. . o

Question: f:R—=R GerTug,jf(Sx) fx)=x erermeunm 2 emar (M ST AFSLNGT ML @D
f(8)=7 erevilev, f(14) =

A: 4

B: 10

C: 11

D: 16

Topic: Mathematics-Section A

Item No: 2

Question

D: 100102

Question

Type: MCQ
O eremugy) g dllyerefl wHmD z;=1+2i ereorm Yeraflwm@d. B ererm Lemerfl

Quest Re(z,) < 0 eremrmeunm 2 6rem z, -emwd GMlaHmg womid OAB e @ FLUSGS

uestion: : ; . : i : 2 G ;

CemGarem Wp&Garamrbd. dler OB siawrwr@n. @UGumipg &ggesaseﬁﬁrl_
6TE| 2_6UTEMLOUIEV6) ?

A: arg z,=m—tan"! 3

B: -1 4

' arg (zy —2z,)= —tan 3
C: | 22| = 10
D:

|221 - Zzl =




Topic:

Mathematics-Section A

Item No: 3
Question
D: 100103
Question
Type: MCQ
8x+y+4z=-2
x+y+z=0
AX—=3y=p
Question: | GTETD 6@ UigSFTam FwarUT(h GsTEH&@ aaramnn Sireyser o ar(® erefle,
1
8x+y+4z+2=0 eTaim FeTHH MG [?\f R, = EJ ereorm Ljemafla@n @enL Guiuerer
SLD :
A: 3\/3
B: 4
C: %
9
D: E_
3
Topic: Mathematics-Section A
Item No: 4
Question
D: 100104
Question
Type: MCQ
Quest 2x2 auflensenL il A eTairm jewnild@ det (A)=—1 wHmb det (A +1) (Adj (A) +1))=4
estion:
! GTETLIGT 2 arenlowm@GLd. @QUEumipg A -ar ppenevedll L 2 miLiL&satler shg e :
A -1
B: 2
C: 1
D: _\/E

Topic:

Mathematics-Section A




Item No: 5
Question
D: 100105
Question
Type: MCQ

Q@@ @nem @we e ‘a’ -&@&, y=1, y=3, x=0 wHmb r=y* YHlweuHmTe
Question: o ) . ) 364 i . .

2 (heumdsLumib Lu@dluder LrliLieTey = craflev, a-eor LOGILILY :
A: 3
B: 5
C: 7
D: g
Topic: Mathematics-Section A
Item No: 6
Question
D: 100106
Question
Type: MCQ

2, 22 23 . LMD 4, 42 43, . GTGOTLIG) (_Lpfmg)@u_l 60 MDD n 2 MILIL|SSET 2 DL

25
Question: Qm QumsES DgTLseTTGLD. eTever 60 +n e mUiLsseller QUmEES sgraf (2) 8
n
arafled, D k(n—Xk) =
k=1

A 560
B: 1540
C: 1330
D: 2600
Topic: Mathematics-Section A
Item No: 7
Question
D: 100107
Question MCQ

Type:




log, (1— x + 12) +log (1 +x + xz) [—11- 11-) (0]
, Xe|—, — |- .
, f(x) = SeCY — COSX 2" 2 x e (0, 1) ereormy
Question:
k , x:={)
cueTUMEsL umi Friy x=0 -ellé GAsrLrgdlwneng erefled, k =
A: 1
B: -1
C: e
D: 0
Topic: Mathematics-Section A
Item No: 8
Question ID: | 100108
Question
Type: MCQ
) {x+a , x<0 x+1 , x<0
= LoD g(x) =
Question: & —4 - E%0 o {x—4)2 +b , x=0
eTeorm &FmTL&6T R &b Qgrirdfluneng erefley, (gof) (2) + (fog) (—2) =

A —-10
B: 10
C: 8
D: -8
Topic: Mathematics-Section A
Item No: 9
Question
D: 100109
Question
Type: MCQ

x3—x2+10x—7, g | )

flx) = . CTGTS.

—2x +log, (b —4), x>1

Question:

x=1 ereyrm yerafludled fix) ereruigy WBUGLE wEienL SienLwmm 2 6Ter erever ‘b’
-wd Garbg) 2 (HeUT&E@HLD SEuTLD




A: (—6, —2)
B: 2, 6)
C: |—6: —2) i (2, 6]
D: (-6, —2) U (2,6]
Topic: Mathematics-Section A
Item No: 10
Question ID: | 100110
Questi
T;pe; ion MCQ
Question: a= lim i womn f(x) = L~ o (xe 0, 1) eraflev, @UIGLIT ;
noe =4 n? + k2 o 1 + cosx ’ ’ ’ gl -
a a
< (-
f 2 f 2
a a
B: L N = .JE
r(3) 3
21(2) - £(2)
f 2 f 2
a a
D: —_ o \/E ’[_)
r(3) - (3
Topic: Mathematics-Section A
Iltem No: 11
Question 400111
Questi
T;pe; ion MCQ
Question: | ¥ +2ytanx =sinx, 0<x < = |phHmid y[E] =0 erafled, y(x) -er BLQUIH LI :
ax , 5 LOmID Y| 5 Y @® Y :
A: l

8




B: E
4
C: 1
4
D: E
8
Topic: Mathematics-Section A
Item No: 12
Question
D: 100112
Question
Type: MCQ
P ereorm emerl (1,2) wmmib (-2, 1) eremm Yeraflsatlalmbg SlenL&@d gmhisarfer
cuTGsRIGaTe gn(hged 14 erarmeurm BETHDG. f (v, ¥)=0 erarug P -a1 Qwimki
Question: | GUEHT LHMID Gl ¥ -Fnd A wHMLD B ererm Leteflsaflgn Cuoaib y -oidams
C womib D erarm Yeraflgaflaun Qe hidng. @Uudumrepg ACBD erarm
BrHarsSler LFLLeTe, :
A: 2
2
B: 317
2
C: 317
4
D: g
Topic: Mathematics-Section A
Item No: 13
Question
D: 100113
Question MCQ

Type:




y?=24x eTeTn LTeueeaTwSSH D@ (o, B) erenn Lemafluded cuenruitl L QsrhiCam(
2x+2y=>5 ererm Garlmne Qen@sHsrarg. @QuUCumipg (a+4, B+4) eremm

tion: 2 2
Question Lerefludléd x_z = g—z =1 erarm FlugeuaneTFHS MG euangwliLl L gk EGHS5S
o
Can( aLibg) CFvers Lerarfl :
A (25, 10)
B: (2[], 12)
C: (30, 8)
D: (15, 13)
Topic: Mathematics-Section A
Item No: 14
Question
D: 100114
Question
Type: MCQ
x+y—z=0=x-2y+3z -5 ererm CaripnH@ Qeneawrunsg (1,2, 4) eremm Lemartl euLflGul
Question: | Qaced Camliigm@ (1,—2, 5) ererm yematludedmbg cuenrulCumid Qam@sgs
Camiiger Hemd :
A: _1
2
B: 2
2
C: E
2
D: 1
Topic: Mathematics-Section A
Item No: 15
Question 100115

ID:




Question

Type: MCQ
— A A A . — A A A . =3 — 5 . .
a=ai +j—k OOMD b =27 + j —ak, «>06ETE&. a x b e Ol eus Ll
Question:
i 2? _ o} ererm QeudLit g e efpa 30 eravfled, a=
A: E
2
B: 8
C: _1_?{
2
D: 7
Topic: Mathematics-Section A
Item No: 16
Question
D: 100116
Question
Type: MCQ
oy . T : g e 0
| 6@ FEROILILL Lreusdler spmafl wpmib L ellewds syraf wpeppGu a HmLD 3
Question:
; 4 ;
Y@Wb. PX=1) = B cTatled, P(X= 4 (=) 5) =
A: E
9
B: 24_
81
C: 1_6h
27
D: 145
243
Topic: Mathematics-Section A

Iltem No:

17




Question
D: 100117
Question
Type: MCQ
E,, E,, E; ereien epemenn ¢em 6le0&ss dnigw eperm Hlaspsslsemm@n. Gogd
, 243 B - — . - .
Question: | P(E{) = P P(E,) = Tp womid P(Ez) = 1Tp SGD. py LOMID P, GTETLIGT
p -ar WsLEuflw womb WsssHlw wEHiLEsET erale, (p+p,) =
A: E
3
B: E
3
C: E
4
D: 1
Topic: Mathematics-Section A
Item No: 18
Question ID: | 100118

Question Type: | MCQ

S={fe [0, 2] : 825in%0 4 2050 — 16} Gremas. <LQumups

Question: - -
n(S) + Y| sec [— + 23) cosec [— + za) N
4 4
0eS

A: 0

B: -2

C: -4

D: 12

Topic: Mathematics-Section A

Iltem No: 19

Question ID: 100119

Question Type: | MCQ




. a1 1 5 1 1
Question: tan [2tan 12 4gec™ X 42tan™! —} =
5 2 8
A:
B 2
C: l
4
D: E
4
Topic: Mathematics-Section A
Item No: 20

Question ID: 100120

Question Type: | MCQ

Question: (~(p =N ~q)) A q GFGE‘}T‘[D &'&H)@J :

A: 63( GlLouILDLD

B: 6(TH (Lpyessrim(h

C: (P = q) A q -5 FLOIEILDTEIZ

D: (p= q) A p -5 FLOIEILDTEIZ

Topic: Mathematics-Section B

Iltem No: 21

Question

D: 100121

_?;pe;tion Numeric Answer
ceverd @Gy @l saLwgrs @oers, &eo p, q r e R-s@EH5E,
(P2 +q)x2—2q(p +1)x +q*>+12=0 TN FLETUML_G6T (H $Tey x2+2x—8=0 eramm

Question:

e s o . q’ +1°
FLOEGTUM g 6T STeUTHed 2 aTerg). @Ubumipg 2 -

Topic: Mathematics-Section B




ltem No: 22
Question | 490122
Ques.tion Numeric Answer
Type:
Question: | 2 Qass Quea carsale @aossnsater OUMmMES0 36 2 6Ter 6rewrs afler
| cramanllsens
Topic: Mathematics-Section B
Iltem No: 23
QLfestion 100123
ID:
1Q_ue§tion Numeric Answer
ype:
3 -am Wews wLmigaller cufleng {3}, {6, 9, 12}, {15, 18, 21, 24, 27},. . . GTGI) SERTHRIGETTS
Question: | GfigsLiu(Bdng. @QUuCumipg 11 -eug sanddled o drer 2 ML dsafler n(hge
Topic: Mathematics-Section B
Iltem No: 24
Ql,.lestion 100124
ID:
_CI_)ue§tion Numeric Answer
ype:
, P —x?—x+1)+x 3x3—4x>—2x+4)—1=0 eraip swTUM _Ig6 QeueuCeumme
Question: . . . . . .
QuwGlwenr epevriseafien ereameantlsams
Topic: Mathematics-Section B
Iltem No: 25
Qgestion 100125
ID:
Ques.tion Numeric Answer
Type:
Quest p. q < 15 arasfled, (1+x)P (1 —x)1 cremgen el eunéasgdled x HMILD x* -6 (56T SHIkIEET
uestion: R . . 5
wpeonGu —3 wHmib —5 ereflé, x> -6 GaIsLD =
Topic: Mathematics-Section B
Iltem No: 26
Question ID: | 100126




Question

Numeric Answer

Type:
i) i :
Question: | n(2n + 1) ID (1-x")2" dx = 1177 ID (1 —x™)?* dx | neN erafled, n=
Topic: Mathematics-Section B
Item No: 27
Question
D: 100127
?ues.tion Numeric Answer
ype:
y=y(x) ererm euenereueny (3, 3) eremrm Ljemeafl eu NG Gowaydlmg. Coeib @b
cuaneTeuey HlenL L 1b 3 wHmb x(>3) -&@ @l Cw x -ar s CGe
Question: 3
2 (heumd@G UGHufenr LpliLeTey [E) . @bs euamereueny GCLEID WPSDH
7
sTHUGS eTer (o, 63/10) eTarm Lerafl cullCuiyd Cgerpred, a=
Topic: Mathematics-Section B
Item No: 28
Question
D: 100128
?ues.tion Numeric Answer
ype:
2x+y=0, x+py=15a, x—y=3 erenuar wWpamnGw p&Garearrd ABC -6 LISSMHISET
Question: | ABr BC Lpmid CA 4@Lb. Qps WwasGaransder demCGarl(h epwwd (2, a),
1
——<ac< 2, 1 —
> erafley, p
Topic: Mathematics-Section B
Item No: 29
Question
D: 100129
Question

Type:

Numeric Answer




flx)=2x2—log,x, x > 0 ereoim &y (0, a) -60 GOULD FTTLMSEYLD, (a, 4) -6b S
FMTLITEGYLD 2 GTeng). y>=4ax Ty Ligeuaerwigdlen Wgerer Lerafl P - cuanpuiL]

1
- - - - . . e o D .
Cumid AerGGar@H (8a, 8a—1) ererm Letetl culll GlFeeusTEHeaD [ L ] GTEOT

Question:
Yeretl eufl Qgcengrasen o ererg. P -6 euenpul@Qumib Qam@@s55CsmH
Xl ,
- +E =1 grafley, a+p=
Topic: Mathematics-Section B
Item No: 30
Question
D: 100130
%Jpees:tion Numeric Answer
.. . rEl  #EZ gl . L. . . .
Q wpmitd R eremmiien —— = 3~ 5 eren Camiligen Wglemer @m Letailger,
Question: | Gogyd Cuwle o dter Car® P4, 2, 7) erern Lataludedl(mbE 26 Bi0@GSET
gnrsdlaererg. @UGumipg POR eramm wp&Garamsdle LrliuaTeler aurdsn
Topic: Physics-Section A
Item No: 31
Question
D: 100131
Question
Type: MCQ
M=100 kg, m;=10 kg and m,=20 kg dwu eperm Hepsear UL FHo
sriLluul(hererg Cumew epw&EsLUL(HeTeTer. TGS  S6ITMmI& (6 LD
2 FTlGUDMSTHELD SDLIAsET CaedlugsTHe D BLALHDSTEa|D 2 eTarear. 2 ms ™2
Wph&ssg L m, flenp Cwé Crradl psmorm Sepwliber g F eramm ellans
QeaissriuGEng!-
Question: | F-ai gl : (g=10 ms~2 eTea)
mq =10 kg
F ll
—» M=100kg my,=20kg
A 3360 N




B: 3380 N
C: 3120 N
D: 3240 N
Topic: Physics-Section A
Item No: 32
Question
D: 100132
Question
Type: MCQ
6 MHz &l(pbg 10 MHz eueny 2 éen jepvalflenssd@er Gaaid e HloowsHeans
Question: | e CrigCGuireiler Care) CFwiw @uaibd. SisHaTar e Bor ClbH&EHD
215 QOHEGLD.
A: 4 m
B: 20 m
C: 30 m
D: 50 m
Topic: Physics-Section A
Item No: 33
Question
D: 100133
Question
Type: MCQ
THs @@ sasHb @m GHUGLL sfiluss wrdfluilear fage eigd 4250
| Slemgeysar [ HBlLD 98 edtarg. 10 HlOLmsERsGL War Sogey aigd 2250
Question: Slenseyser [ HIOL 1D 256 LIMEDG. Sge| wriled
(log,71.88=0.274 et eT(h&GHI& CEmens)
A 0.02 min 1!
B 2.7 min 1
C: 0.063 min ~ !
D 6.3 min~!
Topic: Physics-Section A




Item No: 34

Question

D: 100134

Question

Type: MCQ
900 nm e Herpd 100 Wm 2 Gledlajbd CsramL @i @amanssnan qeaflssd

Question: | e Gengdlen LOg Clem@ssTals LhiSng. @ allammguies snans@s CehiGssrs
1 em? upliled LG «CurlLrensafler eramantlsans :

A 310

B 4.5x 1016

C: 4.5x 1017

D: 4.5x10%°

Topic: Physics-Section A

Item No: 35

Question

D: 100135

Question

Type: MCQ
wil @rient i Wereys Cargenamuiler LLenL fHed 12 mm. endLiL (LP(LPeUID

. +

Question: 3 aafl eflevse eramr Caman Bifle) emeudasiLBF g erafldy, Ll &b (mm-6b)
wirgl ?

A: 16

B: 0

C: 48

D: 12

Topic: Physics-Section A

Item No: 36

Question ID: | 100136

Question MCQ

Type:




FIG6T WaTEMHES Denaudey 2 6ter STHsLILeLD,

: — A
Question: | B — 2% 10~ 8 sin (0.5 x 10°x +1.5x 10'1¢) j T.
eras Csr(Hssiiul_(Heterg). WlerLeosdler eiFs ereueumm @) (HE@GD ?
A: 6 Vin~! x -&8ler Slengullen
B: 3Vm~! z-y&&lem Henaulilev
C: 6 Vm~! z -g&8lan Slengulle
D: 2x1078 Vm~! z -ggdlen Hengulled
Topic: Physics-Section A
Item No: 37
Question
D: 100137
Question
Type: MCQ
@@ LR Wlarsanhle X, =R Cuaib fper sryewl P, 6 2 6rergl. X, =X 25
Quest Qmagworn C BlaGssE Snear Qarar g@m Wer GCaadl Cgmir @enamriibe
uestion:
o | B
GQeenrss LB Gurg e sryant P, 2,8 wrmdlng. P, eNldlsLd
A: l
2
1
B: S —
V2
C: _\/_5
V2
D: 2l
Topic: Physics-Section A
Item No: 38
Question | ;00138

ID:




Question

Type: MCQ
A A)
WlerenL L 1D Q& TaiTL_ ep(Mh GisaT (2:' + 3] T erem Symen smbsL Ljosdled @uinkiEng.
Question:
A AN
2|5 (cu' = 4}') ms ™2 eraimm WpH&ssmSL QUDD(HEGLTETED o -601 Lol :
A: 3
B: 6
C: 1.2
D: 2
Topic: Physics-Section A
Item No: 39
Question
D: 100139
Question
Type: MCQ
g WerGearmL b umybd X, Y erepid @ el L& SH(hatseten ewwmisailed o 6rer
Quest SMHSLI Leomi&eT (pepmGui By Hmid By @b, 20 cm ypb GlsmreirL eul L& gHimer
uestion:
X -6 200 &HMISHEHLD 20 cm rid CETarL Ul L &&H(HeT Y-60 400 &DHMIsEHLD 2 6Teren
eraey By, By @eumdler adlldlsid
A: 1 ¥
B: 1 &2
C: 241
D: 4:1
Topic: Physics-Section A
Item No: 40
Question ID: 100140

Question Type: | MCQ




QarhsEsiul_(herear Wleammdled LMy WerGerm_Lib T :

4 ()
VWWV
2Q 40
Question: \NV\‘ \A/V\/ M
4 () 4 ()
I!'k At TR R
™
\_/ 40V
A: 10 A
B: 20 A
C: 4 A
D: 40 A
Topic: Physics-Section A
Item No: 41
Question
ID: 100141
Question
Type: MCQ
L&s GQenewribe o ememr C;=1 pF, C,=2 uF, C;=4 nF, C;=3 pF ydw WHer
Question: | Caadlsafler el 2 rer Glorgs Wlereyr L Lb.
(20 V Wlenrged epemm Aenolitbley @lenenTas Ll (Hereng))
A 200 pC
B: 200 C
C: 10 p,C
D: 10 C
Topic: Physics-Section A
Item No: 42
Question
D- 100142
Question MCQ

Type:




Question:

@ gsar Flas QusssdnE o L uHnCurg @LUuCuuirsfluler griurs o 6rer

dlans Geus euenyLIL LD aUigaILDd Ol&TeuTiq (H&EGLD.

A: QUL L

B: !_%G‘ITG]_II_I_

C: DFG N6

D: Grir Car_(h

Topic: Physics-Section A

Item No: 43

Question

D: 100143

Question

Type: MCQ
LIOT PSS e 7 mol Carewr e @GOILELL gram Beedlwel| eumuwj 40K

Question: | GleuliLblenew 2 wireysE 2 L&D eurueier & Yy nmeild gHubhid 2 wiiey ?
(R=83JK ! mol~! erewg gyl (Hererg)

A 5810 ]

B: 3486 ]

C: 11620 ]

D: 6972 ]

Topic: Physics-Section A

Item No: 44

Question

D: 100144

Question

Type: MCQ
P 2psswpd V ummoand Csrar Hlaneoule g erem cumy isear CHmLssL

Question: | LRGN 6T Ig6d 6(h LIBIGES Slleblrar Supssiiuhdng. wror erer Grmiulde
Qo pssid Wz ?

A P

B: 8P




C: 327
D: 64P
Topic: Physics-Section A
Item No: 45
Question
D: 100145
Question
Type: MCQ
1 cm gYrid QaramL g Bidgel 729 sog Seuamaserts 2 e dpg. Bifler upliy
Question: | @\(pellens 75 dyne/cm er@fled (pgHed HFL @le&sD euany LIFLIL Y Hmedlen OlLimEsHLD
wrgl ? (Given w=3.14)
A 85x10~4]
B: 82x1074]
C: 75%x107%]
D: 53%10°%]
Topic: Physics-Section A
Item No: 46
Question
D: 100146
Question
Type: MCQ
yellullenr gergdm@ CGa 32 km 2 wrsdn@ aT(HdgE dFvliu®b Frébsig 6
Question: | GTenL_&H@HeMME| FHEISLD
(yeSludler <2yrib=6400 km)
A 1%
B: 3%
C: 4 %
D: 0.5%
Topic: Physics-Section A

Item No:

47




Question

D: 100147
Question
Type: MCQ
epeulleumremmid 250 g Hlenm Glasranr @)\ sl enL &6 2 Nm~! &(mer wmhledl GlamemrL
(et elldeiler uLgHer Car@ssiiul Herarg Curd @QeamamssluBdeammer. @\
_ sLanLs@psGh ordlldrdr dmssaller v HawsCeauswd CasrHssiulLmeo,
Question: F(meredldedlen Clumw B & :
250 g —/ 00000 — 250 ¢
A: v
| 22
B: E
2
C: E
4
D: i
V2
Topic: Physics-Section A
Item No: 48
Question
D: 100148
Question
T;pe:I MCQ
350 N @peilengenwis (T) smi@b eh sullbiler g 50 kg Hlenm QETeRTL 6(h @&hidE,
Question: | gm#lmg. g Wsedled 4 ms—2 WWH&sHFHL T SWPpREGHDG. GDerant g 5 ms—2
Wph&ssgLear CGondlng. sflwrer curdilienug Cgfe) Caw. (g=10 ms—2)
A: GCuGamibGurg T=700 N
B: ElmmiGGurg T=350 N
C: CuGeombGurg sulilm imibg e8lHLW
D: SWPInREGLCUTE suln Simbg 9HLD




Topic:

Physics-Section A

Item No: 49

Question

D: 100149

Question

Type: MCQ
FlenLs5a15CH5TH WpaermCGuw 30° wHmib 45° Cerammisaticy erdlwiLpHD &) Fewr(H

Question: | erdlQummLgeT Gy GCrrgdled GlLmWL 2 wWFSens L dlemmer. eumdlen CgrL_&ss
Sleng Cousnisatlen allflsd

A 1:4/2

B: 241

C: 2 21

D: 132

Topic: Physics-Section A

Item No: 50

Question

D: 100150

Question

Type: MCQ
6.8 cm Berd Qarenr Frmen swidufer el b srewr 0.5 mm YflulenL g gmyb QameirL
@ HmE emall LweTLHSSILRFDG. (poerannd Card ojarei(H 1.5 mm erameyLd

Question: | e L& Camed emeli(h 7 eTavmeyld 2 etaral. &@&bhd (PSS 6revrami(hdbsatied &wmLdlullesr
SeTESIL_LILIL L eueneTUTLIL] ¢
(Q@@ Sjerellulfler eul & Gamar Aflayser = 50)

A: 6.8 cm?

B 3.4 cm?

C: 3.9 cm?

D: 2.4 cm?

Topic: Physics-Section B

Item No: 51

Question 100151

ID:




Question

Numeric Answer

Type:
Lol L g Slengulled e erllummetlen Gar_&sas Sens Cousbd @ GleusLiT
. Cugid erdlelummer urengulilen gwerum( y=>5x(1—x). CeT_&s Seng Cousgdlen
Question:
A
y sam OleusLi J.
(g=10 ms™ 2 eren& Q&TaTs)
Topic: Physics-Section B
Item No: 52
Question
D: 100152
?ues.tion Numeric Answer
ype:
1 kg Blewpuyib R rupb Casrar @m (0 g6 ewbwsSdler 6llfluimrse|Ld
sen5SMGE Qem@Gs5sTHa|b FOQD @ S sser Fmal UDDF &POEH DS .
slgen Hleom&@&F swwrer @ Oummer Hliger o2 FH0  yeretlude
Qummas L (Heterg. $HGUTE @IHS bl elhelNssiLBdng. Qurmer Wss
Question:
SMpHg Hlanasa@ eumbGLTg g6 Careanr Geusd 4 ’% rads™ ! o8 2 el @Ik
x=_
(g =10 ms~2 eraviled)
Topic: Physics-Section B
Item No: 53
Question
D: 100153
1Q_ue§tion Numeric Answer
ype:
gflurg 1 m Bemd Csrewr g@ sbGulder wh Gasb Srapb Carsamen el
1 kg erenL afldsuuBb Curg + 0.02 mm eren Sefll WeppCuirh sbi9uiler B4
| 04 mm erenr emeflLLBEDg. + 0.01 mm galu AepujLer sbGudler eflLid
Question: 1 4 4 mm erar SeareflLiiuBfpg. wh Gaws erailigd gHuBHin e
(AY) xx 1010 Nm~2 erend sawr_dluin®dlmg. x-er iy
(g=10 ms~2 erens)
Topic: Physics-Section B

Item No:

54




Question
ID:

100154

_I(?;pees:tion Numeric Answer
@M 1T ueurereny GpmmEGLEUTE galluralar odrbeiear 100 Hz.

Question: | <2LSIMETEONE &L5Hg) Qeern Gurg igen SlTbeusr 50 Hz. &TIpLem <, Wiel TerT
Qunig Gurg odlibleusmr 3 Hz 8 QmHE&GWL. QmIE x=

Topic: Physics-Section B

Item No: 95

Question

D: 100155

%Jpees:tion Numeric Answer
uLgdle o arerg Gure GeucuGeum Sigoer (t; WHMIWD t,) Clasrear @5
QeueuGaum wWersmiiy Gummerserrd @@l @Qamanssl (B (B WarGCssd
Qeluwiu®dng. Qm Ceum Wensmiy QummeTs@nnd F erapid SLSGID 6L iqameD
Gflsslu@éng. sLSSHID 6 Ligen Llemen(LpdsLd V.

Question:
Er1=_3_;?=0.5mm aE
ey =E;5=1mm T 100V

Topic: Physics-Section B

Item No: 56

Question

D: 100156

Question

Type:

Numeric Answer




BLLT o sHm el WeagamL ser @aamssliuhdearmear. giuil @ Bearb
[,=40 cm. P yr e Qaflurg WergemL x Gari @eneniibe @eneamésiiBidmg.
yw #fli® Berd 21CGs wanaruied @Qmbg 80 cm erand sSewrLHluiubhEng.

erenGeu x-6om Lol O 285 Q(MSEGLD.
Question: | P 5 Q ‘
P=4()
<«
A C
J
|y FA
L )
E K
Topic: Physics-Section B
Item No: 57
Question
D 100157
?ues.tion Numeric Answer
ype:
& 218ls dlTbleuamaetenr GarBssi_L Wlersnmle 2 erer Liwigm WlerGerm L Lb
I A 345 Q(HSEGLD.
80 20mH 6|Iu,F 40 50mH 80
—/\\— T {l YWWA BEE—AW
Question: = 0:5pF = 0.5 pF
1] WW 1| YW 1] WW
05uF 10 08pF 40 0.8 uF 24
()
&
220V
Topic: Physics-Section B
Item No: 58
Question
D- 100158
Question Numeric Answer

Type:




1
e Gweelu @Gellbeeandlar Gellw CQgmenaey STamUSDHE 5 &G LD % &G UL SHleD

ST lg WeTerelmm e(h euepruL D euedpwliuh&leng. Glaerslen egafl allewvse eremr

1.5. Goad Cevendlen @\ SemrigHEnbd G euamene| 2Lrdmss (R) Camar(h ererer.

R-eir LI cm 85 @Q(HEG)LD.
AY
~(em™Y)
Alow ¥
Question: ‘
1 0.08
1 0.06
10.04
10.02
<l B 1 1 I 1
X —0.10 —0.08 —0.06 —0.04 —0.02 1()
pem™)
T
Topic: Physics-Section B
Item No: 59
Question | 109159
?ues.tion Numeric Answer
ype:
eamigrme Hlmwrenauile enewer euflensuder wpsa HlenewrHm eufluder oama
Quest Bard N. urager euflensuller 3 eugy HlevewwrdHm eufluier e BerdHD@b LT
uestion: : : ; o
auflengulilen 2 eug) Hlenew wmHm euflullenr emev FarsdnEn @er Cuiwmar GCeumyum
uahu- @I‘fﬂ@ a=
Topic: Physics-Section B
Item No: 60
Ql.festion 100160
ID:
Question

Type:

Numeric Answer




4kQ 1 IL
VWA—> >
IZ
(100-120) v &£ V,=60 V3 10kQ
Question: /
CuCa 2 drer Wearandlad Glearmi oL Gur® WerGearmL b mA 5
QGLICTE
Topic: Chemistry-Section A
Item No: 61
Questi
Dot 1100161
Questi
T;pees: ion | \ica
OQanELy - I-m Car@ly - I -2 Lar Qurpsss.
CEm@ELY -1 Q@Y - 11
(Gemwowb) (SemwoLiy)
(A) BrFg 1) euemeThs eniDLIL
Question: | (B) [CrF J*~ (I) &wger Grd®H
Q) 0, () p&Cameanr @A FdlH
(D) PCl, (IV) eraimpd)
ECp Csr@ssiiul L eurliliiysefles @mbg Waea b QummEswrear el amwd
Ca s (HEse] L.
A: (A) - (1), (B) - (1), (C) - (I1), (D) - (IV)
B: (A) - (IV), (B) - (I1]), (C) - (II), (D) - (I)
C: (A) - (), (B) - (IV), (C) - (I), (D) - (1)
D: (A) - (D), (B) - @V), (C) - (1), (D) - (I)
Topic: Chemistry-Section A
Item No: 62
Questi
Dot 1100162
Question MCQ

Type:




(AP

- I-m Q@i - I -2 e Qunpés)s.

OgT@ELIY -1 Ogn@ELy - 11
(Qewev(pemm/elem svrae) (eNemerTiy,sdl)
Question (A)  250,(g) +O,(g) — 2505(g) () Fe(s)
u on:
(B)  4NH;(g) +50,(g) — 4NO(g) +6H,0O(g) (I)  Pt(s) —Rh(s)
(C) Ny(g) +3H,(g) — 2NH;(g) () V5,05
(D)  sreuy erawrGlenni (1) +H, — Smeury Gmiui(s) (IV) Ni(s)
&G Qar@ssiul L eurilysafles @mpbg sflwrer ellenemwig CaibolsHdse, L.
A: (A) - (1), (B) - (1), (©) - (1), (D) - (IV)
B: (A) - (IID), (B) - (M), (C) - (), (D) - (IV)
C: (A) - (IV), (B) - (1), (©) - (I), (D) - (II)
D: (A) - (IV), (B) - (II), (C) - (1), (D) - (1)
Topic: Chemistry-Section A
Item No: |63
Questi
uestion 1100163
Questi
T;pees:tlon MCQ
&G @ran(h spmser Q&rHdsliLL (HeTaTer.
gapml I: Cl, epvsamdlen sslllemeniiy 2,rb @Cerrilaten oamn rddlener el
G\ WLkIEG AHSOTEGL0.
Question: gapml 11 : erdlywaisefien ojwefl L,rb S@UDLILISTL AW ATHHSH ST IgQILD
erQumpgIGd HFSID.
sflwrer eflenLenwid GCairhols(Hdse,LD.
A gapml I oM amm) I @rarhibn il
B: gamm| [ LOMILD Fapm| I Qrear(Hn seum.
c: gapm| I sl e sgpmi II Heum).
D: gamm I geum e sgmmml 11 &fl.




Topic: Chemistry-Section A
Item No: 64
Question
D: 100164
Question
Type: MCQ
Quest Browréd grlewwrssd QFudwpan SPsaTL. aTHE Satend Gl
ueston:
2 CarsnisEnsa@ Wsa|b QuTmssmeag ?
A: GmDBS 2 (HGbleney Glgmar ey
B: 2dls Clardl Hlene Cl&memr_me
C: 2dls WarsLsgdmen ©ls e e
LDIT& &S ENET SITL_ b 2 m&lw BHleneouley o _6ter 2 Caurssdle) GenmbHe Hen T
5. manan STl e gl b 58l GeowHS ST
OlsmeT(HeTeTanal
Topic: Chemistry-Section A
Item No: 65
Question ID: | 100165
Question
Type: MCQ
Question: EpsaL ergenar Garar(h H,0, HlansaiamL sma $HEsmd ?
A: wyHwim
B: LITTLD TV lg 6@ (h)
C: urrdls dleld
D: GTHSETTED
Topic: Chemistry-Section A
Item No: 66
Question ID: 100166

Question Type: | MCQ




BeCl,, LiIAIH, 2 L e allenari(hid Gungy SlenL_LiLiena :

(A) AICL,
(B) BeH,
Question: (C) LiH
(D) LiCl
(E) BEAII—I4
gilwumren edlenLenwd GCabols® :
A: (A), (D) womid (E)
B: (A), (B) mmmib (D)
C: (D) wommib (E)
D: (B), (C) wmmid (D)
Topic: Chemistry-Section A
Item No: 67
Question 400167
Questi
T;pe:: ion | vica
_ “saflo Quenden” eremliL(Bb Gurrdler, 3-FTaMBSET “X” WHMID 6-FLOTETBISET “Y”
Question: . : . 3 5 :
Carean(® swrfldsemn. @@ “X” wHmib “Y” eraruer wWpapGuw :
A: B(OH), wmmitb NH,
B: B,H, wmmib NH,
C: B,H, wmmio HN,
Topic: Chemistry-Section A
Item No: 68
Question 100168

ID:




Question

Type: MCQ

Question: | SpseawTL cllenansatled 6Ths cpen ellflss flense allenansE o FTreanTd 606V ?

B: 2N02 + HEO — HNO3 =+ HN02

C: MnQO,4 + AH Y +3e™ — 1\41‘102+2H20

D: 3MnO3~ + 4HT - 2MnOj +MnO, +2H,0

Topic: Chemistry-Section A

Item No: 69

Question

D: 100169

Question

Type: MCQ
KMnO, -6t LT 2a1gm HImLd, SjLblew 26rL_sddle) 2, denrals ojdlevgd) L e alleneri(hbd

Question: | Guirg werpdpgl. Geueilemanie wrhsaiselar psalnCarhn ereumamile U@L
Crgs rHLD :

A: 5

B: 1

C: 7

D: 2

Topic: Chemistry-Section A

Item No: 70

Question

D: 100170

Question

Type: MCQ
C1ECE <5 AL

Question: CupsearL euaflear_gdle Blapn elaauier Liguild o (heaur@d A woHmb B
GTEUTLIGHT :




L] . .
B: CHCl, DOmILD H,
C: CH, DM HCl
D: C,H, womib HCI
Topic: Chemistry-Section A
Item No: 71
Question
D: 100171
Question
Type: MCQ
. EpsaL oThs Cargemar (wenm, p-enpLlCrriarme wHmib W&EMe ojflevd sweansueniL
Question: . !
Gflés Apliurearg ?
A Brredl eurenay 6ulg&gen
B: 3 3y Hemuparer HellEm Clmeerdd o,ar euammantliflens
C: LIG B & LTS 60
D: swrir Hleneoudley 2 emer TLC (Glevedll 2i(H&E, euamenTtlibflens (wpenm)
Topic: Chemistry-Section A
Item No: 72
Question
D: 100172
Question
Type: MCQ
_ Serred, @CarmGrrunrimdled 2 arer LGrmller wopmid YCrmiSler - B oarL_ss58l e
Question: - . : . , s .
< FlweunmLer FRHUBL etlamanuie 2 erer GoumiLim _ IgMH@ STFERTD :
A: ellenarui(h Glummetley 2 6mer GenmidenawrLiL
B: FHEDIJLILITET 6 (LPEDET6Y & SHeitenLd
C: gefl 2 mLiLseT GHmemmisen
D: ellenarui(h Glummertley 2 emer ereslGrmblbflg ellenarey




Topic: Chemistry-Section A

Item No: 73

Question ID: 100173

Question Type: | MCQ

Question: &G o drereummed eTg CrmLOTLIqé STELWIDDE ?

ot

Topic: Chemistry-Section A

Item No: 74

Question ID: | 100174

Question
Type: MCQ

SpsaL ellenaruied 2 (Heum@ eflenemGlLIMHL 6T A WwHMID B eremier :

Question: _
Ag(NH.),]T OH NaBH
[Ag(NH3),] - i .5

O
N

HO




O
A: - é @
H  CH,OH CI—I;_.OH
H OH
B: - @ @
H CHO CH,OH
e OH
C: N é @
H COOH COOH
o OH
D: N é @
H COOH CH,OH
Topic: Chemistry-Section A
Iltem No: 75
Question 1409175
Question MCQ

Type:




SpsarL elmaru® Qurplsaid aps gearm 1 Curd Wmaréd Quéatédlwb
Ph
Question: |
LCrmenw( (PhMgBr) o L 6 Ph_(E_OH GTGID <Y,DHADTENVSH H(HLD ?
CHj
A CH,-C=N
B: Ph—C =N
O
C: I
CH;-C—-O-Ph
Ph—C—CHj
D: Il
@)
Topic: Chemistry-Section A
Item No: 76

Question ID: 100176

Question Type: | MCQ

&Qaasﬁn'rl_ cllleneuiley 2 (Heum@GL (pGeenid llenerblummer :
OCH,

Question: OzN

(i) Na/d) erm_ll\IHSJb
(ii) CH3CH,OH

O,N




OCH,

H
B:
H,N

OH

C:
Oﬂ$_WE:f:]
OCH,
H
D: 02N
Topic: Chemistry-Section A
Item No: 7
Questi
Dot 1100177
Questi
T;pees: ion | vica
s, e wCsraflum 2 tiysafler Hleveliyg searenwuler sflwrear eufleng erg) ?
*N,)CI~ N; )Cl~ N, )Cl~
N, )Cl™
Question:
(A) (B) ©) (D)
OCH; NO, CN

. (A) > (B) > (©) > (D)
B: (A)>(©) > (D) > (B)




C: (©) > (A) > (D) > (B)

D: (©) > (D) > (B) > (A)

Topic: Chemistry-Section A

Item No: 78

Question

D- 100178

Question

Type: MCQ

Question: uigwifé sl womb uredlagddadmassrd <pdueapean eflamaru® s
Heston Qupliu@ib gL Tolmer erg ?

A: Crrwetl gL rolamer

B: Camiiy

C: erélywetl gL molayem

D: QWellwrsrs gL roleer

Topic: Chemistry-Section A

Item No: 79

Question ID: 100179

Question Type: | MCQ

Question:

FDS@TL_6UDHMIET 6T (h R(HEGLD FTEHHemy ?

/OH

H—=C
H-C—OH
HO—fCli—H O
H-COH
H-C

|
H




HOCH, | H
. H H
H OCH,
OH OH
HOH,C . H H _ CHOH
N H #l  fo H
H H
OH OH HO OH
OCHj
H OCHs;
H OH
D: HO H
H OH
H OH
CH,OH
Topic: | Chemistry-Section A
ltem No: | 80
Question | 100180
Question |41

Type:




@pml (A) : CH,Cl -g afledlayer Brom AICL weraflenauie eflenaruiBss
o wHmD p-Clwgdle jafledler Clum @eowmg.

snyevord (R) : sjalldlailer o 6ter —NH, Gsr@dl AICL, oL er aflenarui(h
2 lbemernrs smEDG. s 2 Uy dafldlamear Seriey Bss0

Question: Ceweasred m -ClwsHed efclear LLHGWL ellenerClummarTsL
SlenL_&8mg).

Copsar. sapmsaier glumLuile Spsar e salal®mbg Wsa)b
Qummaswrer gearenpd CHTHOSHES6|LD.

A: (A) omib (R) @rewr(hd &il, (R), (A) -eweu sHlwrs eflend@slng).

B: (A) bpmd (R) @rewr(hb &il, (R), (A) -eneu Fiflwrs eflerasalldvema.

C: (A) gfl ammed (R) seum).

D: (A) seum <=armev (R) aifl.

Topic: Chemistry-Section B

Item No: 81

Question

D: 100181

1Q_ue§tion Numeric Answer

ype:
L&GeWTer @enevdameT BEHsdH dHlenLs@b srmledlmbg Cumiiul L @GarmCrmi4e
2L gfle senpsslul(h 48 ppm Mg Gadley Garawm, serse surissiiuBdng.

Question: | Q&Fergeller 2 arer Mg Damidsatlen ecrameanisans x x 102X amdser erafled x-em
LI . (eflenL : Sm&led 2 emar (p(Lp eTemTEmIlED)
(Qer@ssiuulLg : Mg-uller =iami Blenm 24 g mol ~ 1 N, =6.02x 102 mol —1)

Topic: Chemistry-Section B

Item No: 82

Question

D: 100182

Question

Type:

Numeric Answer




enamL_Femer HMID 2 dbedlmer soamaluie igar Hlenpuiler el 40% enamL e
2 dTengl. seamaluiler Corgs ipdsd 2.2 bar eremr QH&EGD CLTg Sl 2 6Ter

Question: epanL_Fomefer UGS i(WpSHh bar.
(eflenL : =ymdler 2 amam (L erevwTemiled)

Topic: Chemistry-Section B

Item No: 83

Question

D: 100183

.IQ.ueS_tion Numeric Answer

ype:
eradL_imerr pmid Hlul rrefler oemaberbd, erevslrrafler SeangGousid, Bl rresfer
SlenaCoussmss STgQID ¥ LLEISTS @) (HEEGLELTE FoWMEW erafled x-ar Wiy

Question: | —
(eSlenL : (m&le) 2 emem (Wp(Lp GTemTemilay)
(eresLpreflen Hleom 9.1x10-3! kg wombd Hlul rrefler Hlenm 1.6x 10~ kg)

Topic: Chemistry-Section B

Item No: 84

Question

D: 100184

?ues.tion Numeric Answer

ype:
298 K wpmib 1 atm psssddler e urbd sGerfl B fe 2.4 g Hless
siflsliuguirer g selimer Garar® erfldstiubhdng. umbd &Geomfl B e
Qeutiublener =GuLITg 298 K o0l(mbgl 300 K eung 2 wirdlpg) erafled Hlevdstl eriflgeien

Question: | eTesmeldl IO —x k] mol ~1. @mi@ x-er iy
(Qar@ssiul_(hererg : urd &Gerfl WL Mer CQeuliu Qamer Fmer 20.0 k] KL
Cuaib Hlevsstlean GIULWITET STTLET cTand H(HSIS )
(eflenL : 2(mdled 2 eTem (P(Lp eTemuTamiled)

Topic: Chemistry-Section B

Item No: 85

Question

D: 100185

Question

Type:

Numeric Answer




S&aifld 2 erar 800 mL 0.5 M enpL_iflé iflebd g6 et LTS @Geammud cueny
Wardlas emeaussluhdng. uGurg 11.5 g eaplflé bl yeilwurd afli L g

Question: | eTa@fléd WgupaTer enpl Ml 2blewd sengaadlear Cuomomfliy xx10~2 M. @)ki@ x-a
ol . (eflenL : ymdler 2 atem (p(p eramTantlay) (enpLilEs ojdlegdle
Gureort Blenm 63 g mol~1)
Topic: Chemistry-Section B
Item No: 86
Question ID: | 100186
?ues.tion Numeric Answer
ype:
298 K -afleb Spseawr ellenamuller #wbleney wrmledl wdliiy 2x101°
Cu(s) +2Ag *(aq) = Cu?*(aq) +2Ag(s) erafléd
Question: %Cu”(aq) + Ag(s) = % Cu(s) + Ag™¥(aq)
eraom ellenaruen swoblenaw wmdledl xx 1078 @k x-er WL
(eflenL i(m&led 2 aTer (L eTemTamtled)
Topic: Chemistry-Section B
Item No: 87
Question
D: 100187
_?;pees:tion Numeric Answer
Fe,0,-o @BHg e Gomed @mibenLil bumg GaeneuliLi(hib Wlergyri L b F (LmgGL)
Question: -Gt = AN .
(eflenL_ : p(p eramTamiled)
Topic: Chemistry-Section B
Item No: 88
Question
D: 100188
_?;pees:tion Numeric Answer




A — 2B+C eram ellenand @, A-ellenm Ggmle) 0.5 mol L1 wmmibd 1.0 mol L1 erem
2 arenGUTg DS ey Y U|eT sremsGT WPeapGw 100 s wHMD 50 s erefle

Question: I T W
(eflenL : (p(p eremrentley)
Topic: Chemistry-Section B
Item No: 89
Question
D: 100189
Que§tion Numeric Answer
Type:
[Co(H,0)(CL, wmmid [Cr(H,0)]ClL, o dlweunidng QenLuleorer snspndl wi (HGw0
Question: | gryewrors enwWd &THS H@Liys Foer wHiinE Qe wlorar GaumLim(
Topic: Chemistry-Section B
Item No: 90
Question
D: 100190
1Q_ue§tion Numeric Answer
ype:
Quest G&flw gaflufer weraflanauiler Quender, Cl-2 L e eflenarLil(h eflenerClLmmer X-gs
uestion:

SHEMS TN X-60 2 66T HAUDL_[FIGHHETET 6T 6T enilHeans




